%26-1 100&8% 1 X+ HEERIESE

RENE: MDL % A B % 7 IHS A AIREG | IRGAEMEED
1 57 p 34 i@ 4 P ja —ap [ar rppu| —a [ aw i p

pH —  [7.904.7°0)[8.0025.4°0)[7.0(24.9°C)[ 7.424.7°C)|  — — — —

b 0.150 9.99 10.2 10.3 10.2 60 — 30 —
A 0.031 0.037 0.039 0.083 0.091 20 5 10 2

4 0.09 N.D. N.D. 0.15 0.11 20 5 10 2.5

# 1.67 21.9 22.3 25.8 225 250 — 175 —

4 1.28 17.5 19.5 43.8 30.0 400 200 220 120

4 1.52 26.3 26.9 33.9 32.5 200 130 —

4 1.51 20.4 21.0 32.6 255 | 2,000 500 1,000 300

& 2.26 84.1 87.5 133 103 2,000 600 1,000 260

ki (B iz £ %) — 1.1 1.1 4.9 1.2 — — — -
& it 0.005 <0.005 | <0.005 | <0.005 | <0.005 | 0.2 — — —
T 0.005 <0.005 | <0.005 | <0.005 | <0.005 | 0.04 — — —
i 0.010 <0.010 | <0.010 | <0.010 | <0.010 | 05 — — —
S 0.005 <0.005 | <0.005 | <0.005 | <0.005 60 — — —
Y 0.005 <0.005 | <0.005 | <0.005 | <0.005 | 0.04 — — —
TR 0.005 <0.005 | <0.005 | <0.005 | <0.005 20 — — —
T2 0.005 <0.005 | <0.005 | <0.005 | <0.005 60 — — —
3 M 0.100 <0.100 | <0.100 | <0.100 | <0.100 | 0.6 — — —
BF B 0.005 <0.005 | <0.005 | <0.005 | <0.005 — — — —
DDTZ # 474 4 | 0.015 <0.015 | <0.015 | <0.015 | <0.015 | 3.0 — — —

ol p ¥ 100£ 20 11 p

2.8 = 5 mg/kg ; N.D. 3 ip| & #% f ip)4&

BAEFLFHEE > AR E FF - ARI100£ 12 31 ¢

4.3 HFATPHEE > Gy RES > AR1002 17 31 p




